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A rectangle has a length that is 9 feet longer than it is wide.  If the area of the rectangle is 90 
square feet, find the length. 

 
A.  6 ft   B.  10 ft  C.  14 ft  D.  15 ft  E.  18 ft 
 
 
 
 
 
      
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

If the coordinates of one endpoint of a line segment are (2,6) and the midpoint of the segment is 
(−3,6), what are the coordinates of the other endpoint of the segment?   
              

A.  (−8, 6)            B.  (7, 6)            C.  (2, 1)            D.  (−
1

2
, 6)            E.  5 

 
  Solution: 

for the x-coordinate:
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for the y-coordinate:
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Each week, we’ll reveal the answer to the previous week’s question! 
 
 
 

Visit us at WWW.NCEMPT.ORG 
for additional resources or to register to test for FREE! 
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